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library(ggplot2) Data
source( plots/formatPlot-R™) diamonds 53940 obs. of 10 variables
view(diamonds) Values
summary (diamonds) avesize 0.7979

summary(diamondssSprice) clarity character[8]
avesize -- round(mean(diamondssScarat), 4) ggplot[8]
clarity <- levelsi(diamondssclarity)
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Functions
P =—- gploti(carat, price, format.plort(plot, size)
data=diamonds, color=clarity,
xTlab="carat™, ylab="pPrice™
main="piamond Pricing™)
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Mmin. O. 000
1sTt Qu. 4.720
median 5.710
Mean 5.735
3rd Qu. 6. 540
Max. :58. 900
summary(diamondsSprice)
Min. 1st Qu. median Mean 3rd Qu.
326 950 2401 3933 5324
avesize <- round(mean(diamondsScarat),
clarity <- levels(diamondsSclarity)

p <- gplot{carat, price,
data=diamonds, color=clarit
xlab="carat™, ylab="Price™,
main="Diamond Pricing™)

format.plot(p, size=24)
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Name Married Average
1 Auday | False , 75
Omar ‘ True T \
} Ahmed \ False 80 _
Ammar \ False 81 \

c1iSi Data Frame na Gl Jgaall Jlssy

Name<-c("Auday","Omar”," Ahmed"”,"Ammar")
Married<-c(F,T,F,F)

Average<-c(75,77,80,81)
tbi<-data.frame(Name,VMarried, Average)
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Name Married Average
Ahmed:1 Mode :-logical Min. :75.00
Ammar:1 FALSE:=3 Ast Qu.:76.50
Auday:1 TRUE :1 Median :78.50
Omar :1 NA's :0 Mean :78.25

3rd Qu.:80.25
Max. :81.00
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mydata <- read.table("d:/data.csv", header=TRUE,sep=",") cswv #
library(xlisx)
mydata <- read._xIsx(""d:/ data.xiIsx", sheetName = "mysheet") Excel

library(Hmisc)
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library(Hmisc)

mydata <- sasxport.get('d:/data.xpt”) i Sek | 2als
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mydata <- read.dta("d:/data.dta")

R asflas il ool aald

callisSl <lI5gR go abldl jyonm il dOlaoale i Sac aogid o Ol jsoam i cnldl Jaiii gUl
aaag ablbuddl jaom T o3 i . ,aldl bhaoill

Data owwbig D (n31all c nlJl mydata gilsll c na aijaoll <olbluldl 33am 5y oy Liil O piail—

write.table(mvydata,"d:/data.csv' ,sep=",") csv E
library(xisx) |

| write.xilsx(mydata, "d:/data.xiIsx") pehs e | e
library(foreign)
write.foreign(mydata, "d:/data.txt"”, "c:/data.sps", sps SPSS
package="SPSS")
library(foreign)
write._foreign(mydata, "d:/data.txt", "d:/data.sas", sas SAS
package="SAS") |
library(foreign) Sto Stata

write.dta(mvydata, "d:/data.dta") | |
Syntax ailis oj llgi txt i abldl jyam i cnkbiasy SAS gi SPSS J OUluldl jyam 7 gl
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